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1.6.1 hypertension = 70%

Bhogal2017 96 106 424 470
Salahuddin2017 a0 54 128 1483
Subtotal (95% CI) 165 623
Total events 146 449

Heterogeneity: Chif=010, df=1 (F=0.75); F=0%
Test for overall effect: =043 (P =0.67)

1.6.2 hypertension = 70%

Coutinho20145 a4 41 193 234
Frofto2016 17 22 43 46
Subtotal (95% CI) 62 281
Total events a1 236

Heterogeneity: Chi=3.23, df=1 (F=0.07); F= 649%
Testfor overall effect: £= 0457 (F=0.47)

Total (95% CI) 227 o904
Total events 197 Fa4a
Heterogeneity: Chi*= 3.84, df=3 (P =0.28); F= 22%
Testfor overall effect: £=0.04 (F=0.497)

a6. 7%
26.59%
63.2%

21.0%
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100.0%

1.04 [0.51, 2.14]
1.24 [0.55, 2.87]
1.13 [0.66, 1.94]

1.23[0.49, 3.17]
0.24 [0.05, 1.10]
0.81[0.38, 1.70]

1.01 [0.65, 1.56]

Te=tfor cubdroun differences CHiFE=0%51 df=1 P =0 42% IF= 0%
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